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=) UPCOMING ONLINE BATCHES

05 OCT 2022

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

05 OCT 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

& www.mahendras.org

October 2022

12 OCT 2022 19 OCT 2022

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL

19 OCT 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

26 OCT 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

N 7052477777/7052577777
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Q:-1. Two trains of lengths 130 m and 110 m run on parallel tracks. When running in the
same directions the faster train crosses the slower one in 20 seconds. When running in

opposite directions at speeds same as their earlier speeds, they pass each other completely in i

12 seconds, find the speed of slower train ?
130 TieX 2 110 e TS Sl 31 ¢+ AU TSRl U wreTdt & | {91 2o o Stgd aug o
i aTert YermrEt et e Sreft WSt SRt 20 Vehe H UR adt 21 U fuset nia % ewm iy |

& fororfrr faomedt # Sred v, A 12 Sk # UH TR A TR AR A UR AN, et m Al |
T hINTT 2 1
(a) 4 m/s H
(b) 8 m/s

(¢) 12 m/s

(d) 14 m/s
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Q:-1. Two trains of lengths 130 m and 110 m run on parallel tracks. When running in the
same directions the faster train crosses the slower one in 20 seconds. When running in

opposite directions at speeds same as their earlier speeds, they pass each other completely in i
12 seconds, find the speed of slower train ?

130 e 311X 110 e T il 31 2+ THTHIG TeiEt o wrerdt 8| aaT oo o ed oo aw
i aTert YermrEt et e Sreft WSt SRt 20 Vehe H UR adt 21 U fuset nia % ewm iy |

& Fererfrer foromrant e wwe, 3 12 ke # U TR 1 0 e A UR A O §, sheft gl |
T SR 2 .

o

(b) 8 m/s
(¢) 12 m/s
(d) 14 m/s




and 5 boys can do it in 6 days. Men and boys are paid wages according to

their output. If the daily wage of a man is Rs 40, then the ratio of daily

wages of a man and a boy will be —

2 JATEHT 3T 4 TTSh Ueh ohTH okl 10 AT U oY Tehd 8, TaTeh 4 SATEHT 3R 5
TSR 3H 6 ToT H Y Thd &1 TEHT R AShT hl 3k IcUTEH o AR

TG T AT TR SATAT 81 AT ek SATEHY shi Sfeh Al 40 93 8, A
Teh ATEHT ST Teh TTgeh chl df-eh TSIl AT JITUTA BT -
(a) 5:3

(b) 5:2
(¢) 7:4
(d) 7:3
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their output. If the daily wage of a man is Rs 40, then the ratio of daily

wages of a man and a boy will be —
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Q:-3. 20 men could complete a work in 80 days. They worked together
for 60 days, after that due to bad whether the work is stopped for 10

days. How many more men should be employed so as to complete the

work in time?

20 STTEHT Teh hTH okl 80 T W U0 oY Tehd &1 381 60 TaT ek Teh a1

<TH TRaT, STk aITE TR 81 ok T 10 2t o foru o sie o feam st
1 THY U U i o o0 TR o UoHT ol FHatTa R ST =miee?
(a) 12

(b) 10

(c) 15

(d) 20




Q:-3. 20 men could complete a work in 80 days. They worked together
for 60 days, after that due to bad whether the work is stopped for 10

days. How many more men should be employed so as to complete the

work in time?

20 STTEHT Teh hTH okl 80 T W U0 oY Tehd &1 381 60 TaT ek Teh a1

<TH TRaT, STk aITE TR 81 ok T 10 2t o foru o sie o feam st
1 THY U U i o o0 TR o UoHT ol FHatTa R ST =miee?
(a) 12

(b) 10

(c) 15




Q:-4. A solid metallic cylinder of base radius 3 cm. and height 5 cm. is

melted to form cones, each of height 1 cm. and base radius 1 mm. The

number of cones is -

TR B 3 At 3R 3213 5 Ht o Teh 319 41q o ety ot ik s &
foTu fraretra SiTaT &, Sedreh Rt F=g 1 At 3R ser frea 1 fust viss &t

TEAT 2 -
(a) 24400
(b) 11600
(c) 12540
(d) 13500




Q:-4. A solid metallic cylinder of base radius 3 cm. and height 5 cm. is

melted to form cones, each of height 1 cm. and base radius 1 mm. The

number of cones is -

TR B 3 At 3R 3213 5 Ht o Teh 319 41q o ety ot ik s &
foTu fraretra SiTaT &, Sedreh Rt F=g 1 At 3R ser frea 1 fust viss &t

TEAT 2 -
(a) 24400
(b) 11600
(c) 12540




Q:-5. A is thrice as efficient as B and hence completes a work in 40 days

less than the number of days taken by B. What will be the number of

days taken by both of them when working together?

A, B 8 T TAT hITA § 3R FATCTY Teh 1A il B R0 forg 1w fomt <6t dear
¥ 40 f21 O 7 T § O HAT 71 AT G U W1 e R § et e

o=t <R deaT F=T i
(a) 22.5

(b) 15

(€) 20

(d) 18




Q:-5. A is thrice as efficient as B and hence completes a work in 40 days
less than the number of days taken by B. What will be the number of
days taken by both of them when working together?

A, B ¥ 17 T H9TeA © 37 3TTCTT Ueh T ST B 5T ferw e fet <hr s
" 40 T O 7 T0T | G AT gl T GRT Teh |10 1A R F forg g

o=t <R T F=T i
(a) 22.5

(c) 20
(d) 18




Q:-6. A line cuts two concentric circle. The length of the chords formed

by that line on the two circle are 6 cm and 18 cm. then what is the

difference (in cm) in square of radii of the two circle ?

Teh YT a1 Heh{sd gl sl shTed! gl 39 W g1 31 Il U FA STeA T Sterrati
<hY TS 6 T 311X 18 BT 81 Y St it <ht Broamadt o ot & stav (A.H. #)
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by that line on the two circle are 6 cm and 18 cm. then what is the
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Q:-7. A man can swim 5 km/hr in still water.If the velocity of the stream

be 4 km/hr, the time taken by him to swim to a place 18 km upstream

and back is —

Teh ATEHT ITTd UT=T W 5 TeRwfi/ereT o Tehar 81 afe o 61 3 4 ferwfi/eeT 2,
Y I8 T & Tfcrehet SR ATa 18 TRt T X G § oI ST JHe § -

(a) 16 hr
(b) 20 hr
(¢) 24 hr
(d) 18 hr
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Q:-8. A man sells an article at a profit of 15%. If he had bought it at 5%
more and sold it for Rs. 40 less, his profit would have been zero. Find the
cost price ?

Teh STTEHT Uk & ohl 15% o GITH U @l gl AT 36 39 5% 3T WX
TRIET BIAT 3T 3H 40 TUA K7 W ST 1T, AT SHRT ATH I BTl AN

Hed AT hitoTa?
PR
(b) 300
(c) 350
(d) 400




Q:-8. A man sells an article at a profit of 15%. If he had bought it at 5%

more and sold it for Rs. 40 less, his profit would have been zero. Find the

cost price ?

Teh SATIHT Ueh A& ol 15% o @1 UR ST g TS 38 39 5% 3AFereh W

TRIET BIAT 3T 3H 40 TUA K7 W ST 1T, AT SHRT ATH I BTl AN
Hed AT hitoTa?

(a) 250

(b) 300

(¢) 350




Q:-9. A parallelogram has an area of 180 cm?. If the distance between its

opposite sides are 9 cm. and 12 cm., find the longest sides of a

parallelogram.

Teh AHTAR ST ST QIheT 180 THT 71 afe SHehT TRTeE ATl o ofter sht
<t 9 BT, 31 12 A, T TS chl Gl st YSATY AT ST ?

(a) 15 cm.
(b) 20 cm.
(¢) 18 cm.
(d) 22 cm.




Q:-9. A parallelogram has an area of 180 cm?. If the distance between its

opposite sides are 9 cm. and 12 cm., find the longest sides of a

parallelogram.

Teh AHTAR ST ST QIheT 180 THT 71 afe SHehT TRTeE ATl o ofter sht
<t 9 BT, 31 12 A, T TS chl Gl st YSATY AT ST ?

(a) 15 cm.

(¢) 18 cm.
(d) 22 cm.




Q:-10. A person selling an article for Rs. 96 finds that his loss percent is

one-fourth of the amount of rupees that he paid for the article. What can

be the cost price?

Teh ST Th GUA oh ToTU Ueh o1 ol T&T €1 96 = 91T foh ITh! BT Tiavra 39

&G o foTT STaT <ht T2 WST ShT Uh-TUTS B TWT Hed 4T &1 HehdT 82
(a) 160 only

(b) 240 only

(¢) 160 or 240

(d) neither 160 nor 240




Q:-10. A person selling an article for Rs. 96 finds that his loss percent is

one-fourth of the amount of rupees that he paid for the article. What can

be the cost price?

Tk ek Ueh S Sl 96 TUY H S=IdT 2, T¢ UTAT @ foh IHehT BT+ TTd9Td 36
&g o ToTT ST T 7S TSt T Ush-STS B T Hed 9T B Hehdl 82

(a) 160 only
(b) 240 only

(d) neither 160 nor 240




Q:-11. A TV set when sold for Rs.13,600 incurred a loss of 15%. At what

price it should have been sold to make a profit of 20% on the cost?

Teh SYat e A 13,600 TUA H =T TAT AT IH 15% <hT BT 3| IHTd X
20% hT AT HHTH ok 110 W ToRE hiHd U ST ST =120 912
(a) 17900

(b) 18400
(¢) 19200
(d) 20400




Q:-11. A TV set when sold for Rs.13,600 incurred a loss of 15%. At what

price it should have been sold to make a profit of 20% on the cost?

Teh SYat e A 13,600 TUA H =T TAT AT IH 15% <hT BT 3| IHTd X
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Q:-12. A, B and C complete a work in 10, 12 and 15 days respectively.
They started the work together. But A left the work before 5 days of its
completion. B also left the work 2 days after A left. In how many days

will the work completed?
A, B 3T C Teh ST & ShH9T: 10, 12 3R 15 Tt § 31 &t 1 3214 v
|1 HTH TE Tohaml Sifeh A O 814 o 5 7 U8ct 1 SIS JaT 81 A 9

ok 2 a7 ae B Wi hTel B1g <1 1 Bt fehel {a1 # X1 g2
(a) 7
(b) 12

E
(d)9




Q:-12. A, B and C complete a work in 10, 12 and 15 days respectively.
They started the work together. But A left the work before 5 days of its
completion. B also left the work 2 days after A left. In how many days

will the work completed?
A, B 3T C Teh ST & ShH9T: 10, 12 3R 15 Tt § 31 &t 1 3214 v
|1 HTH TE Tohaml Sifeh A O 814 o 5 7 U8ct 1 SIS JaT 81 A 9

ok 2 a7 ae B Wi hTel B1g <1 1 Bt fehel {a1 # X1 g2

(b) 12

E
(d)9




Q:-13. An article is sold for Rs. 4600 at a gain of 15%. What would be

the profit or loss percent if it is sold for Rs. 3600?
Teh T T 15% oh ITH WX 4600 TIA H =T ATAT 51 TTe 39 3600 TOA |

ST ATT AT ATH AT ETA TTA9T AT RTT?
(a) 6% profit

(b) 8% loss

(c) 10% loss

(d) 8% profit
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Q:-13. An article is sold for Rs. 4600 at a gain of 15%. What would be

the profit or loss percent if it is sold for Rs. 3600?
TSk T T 15% oh ATH WX 4600 I H AT AT gl ATS 39 3600 TU |

ST ATY AT ATH AT ET TTA9Te AT SRIT?
(a) 6% profit
(b) 8% loss

(d) 8% profit




Q:-14. If x* + y*+6x+5=4(x-y) then (x-y) is ?
e xX>+y?+6x+5= 4(x-y)?ﬁ‘(x-y)%?

(a) 1
(b) 0

(¢) -1
(d) -2




Q:-14. If x* + y*+6x+5=4(x-y) then (x-y) is ?
e xX>+y?+6x+5= 4(x-y)?ﬁ‘(x-y)%?

(b) 0

(¢) -1
(d) -2
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Q:-15. If a cone is divided into two parts by drawing a plane through the

midpoint of its axis then the ratio of the volume of the two parts of the

cone is?

TS Ueh Ve o1 I8k T8 o Wedl Toig & Uoh WAt Tiereht a1 WRT
foreora foRa STrar & A ich o ST W oF STTIA Rl ST 82
(a) 1:3

(b) 1:5

(¢) 1:7

(d) 1:6




Q:-15. If a cone is divided into two parts by drawing a plane through the

midpoint of its axis then the ratio of the volume of the two parts of the

cone is?

AT Ueh Ve o1 I8k &1 o Wedl Tolg & Toh WAt Tiereht a1 R
foraTioTa ToRaT STt & aY 9ies o ST | o SATAA Rl STTUTd 82

(a) 1:3
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(d) 1:6










